Math 233 Spring, 2017
Krantz April 4, 2017

Third Midterm

General Instructions: Read the statement of each problem carefully. Do only
what is requested—nothing more and nothing less. Of course you need not show
any work for the multiple choice or the TRUE/FALSE questions. For the questions
that require a written answer, provide a complete solution. If you only write the
answer then you will not get full credit.

Be sure to ask questions if anything is unclear. This exam is worth 100 points.

(10 points) 1. Calculate the tangent plane to the graph of the function f(z,y) = 222y + 22 at the point
(1,2, 5).

n =<k, £y, -17 =y # 20, 25717

At (1,19, 0 =<10,2,717

()(M s
<Lo)z)—L7'<’<‘L)‘1‘2)

lox -10 4‘2"’)_4“%)‘—5—10
Lo« ’r‘?,j‘“z lq.

z-57 =0



(10 points) 2. Locate and identify the local maxima and local minima and saddle points of the function
f(z,y) =12 + zy + 3y? — 152 + 6.
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(110 points) 3. Flnd the extrema of the function f(z,y) =¥ — 22 subject to the constraint g(z,y) =
PR 2 WV e, 172 WD 297
- v _2>~x N 1 -2.\3
x*t \jlﬁ \
e (1Y) 0 P x= O~ > =t
Catb gte s (02,002

TQ‘ \("O')M \3: izit Lo,y
= -1 = = = So K‘—"( -
iy (VT -E
Cv;'y \)}h’ e <\&E> L>)< ’/) 7/)
\ﬁ_S—L -._l—.t"s:—}—l ¢
F foy3) = 2 F(O—ﬂ-=—1 )%(i) AR abciele &
m X
__ﬂf ~32Y). -t —1:,5:'_1:}_ Uai
F( ) »/ 3 4 X



(10 points) 4. Calculate the integral
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(10 points) 5. Reverse the order of integration in order to evaluate the following double integral:
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(10 points) 6. Calculate the volume of the solid that lies below the graph of f(z,y) = 2? + 2y* and

over the rectangle [0,2] x [0,1] in the z-y plane. y =
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(10 points) 7. Describe the symmetries (in the z-axis, the y-axis, and the origin) of the curve r = sin 26.
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(10 points) 8. What are the parametric equations of the normal line to the surface y? — 212 + 422 =3
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(10 points) 9. Sketch the curve r = 2sin(36) in polar coordinates.

-

Os 3627

3.—-
L% 36 <%
O 259362~
T ¢ ¢LE \%Tﬁ@i”
v 3
3% £ 36<%x St £3@ 437
T z P
__:‘-< 7_5&36—0 1 —?2'5“436'—’0



(10 points) 10. Maximize the function f(z,y,z) = z + y — 2% subject to the constraint g(z,y,z) =
2+t +22=1.
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